000N (@oo0)0 120 20030 70 170

11. 0000
11-100

ud ugogdgobobdoodod
goood

e HOUOOOLDLDDOOOOLDODLDDODODO
e JUUOODODDODOOOOO

11-2000000 000

2000000 200 AOBOODOODODOODOOOODDOOOOOOOOODOOO
goooo

e HOU0OOLODLODLDOUOOODLDLODOUOODLODLOLODOODLD

e 10 AOBUODOUOOOOLOODO nngODOODOOO POOODOO
0000 A0OBOOUO pa,ps OO0

Na N
= F)’ pB =
Na + N Na + N

Pa

oobogooobooob0obo boboobboboobo20000oooboOoDoD
goboobbooooobBOObOoOoOoLoDoOobooobobbOooon
OA0O0OO00O0OD00ODOOO000O0ODOO0DOO00002000bDDobO0DOn
OoooooOoooooooo@ov,00 T T)o

gogbbdboodbooobuooououooobboboobobobbo
BOOOOODOOODOOOOOOOODDOOOOoOoboOOoooobooobooo
gbogbobogbbobobooboobobobboobbobaoboobood
goon

OOOnmolOO00O0O0OOO0V,00TOOOOOOOOOOOOO

Sy =n(CylogT + RlogV +a@) = n(CplogT — RlogP + &)

goboobboobogoobdan

S =na(CyalogT + RlogV + an) + Ng(Cyelog T + RlogV + ag) D

oo A ooB



goo

S =na(CpalogT — Rlog pa + @) + Ng(CpglogT — RlOg ps +a5)  (2)

goobobooooboogbD obvina:ngUUOOooooooboooTOO
OAOBOODODOOODOODOOOOOOOOOOO

Na
Na + N

+Ng

Soon :nA[CVAIogT+RIog( V)+aA

CvplogT + Rlog(nAranBV) + ag

O000oooooooobOoooooooooooobooooo yooo
godo

ASpix = (na+ng)RlogV —

Na Iog(nArrnBV) + Ng Iog(nAranBV)]

Na B
— ngRlog
Na + Np Na + Ng

= —naRlog xa — ngRIog xg
> 0

= -naRlog

000 Xap=nas/(Ma+ng)000000000

ASOOODOOOODOOOOODOOOO (Dooboo)booooo
goo

cidoogoopoopooob0 b@oboooooboooooovOoboooooo
goggbbobooooooooboobb ciboboboobobobonoo

C C

S= Z n(CvilogT + RlogV + &) = Z ni(CrlogT — Rlog p; + &).

i=1 i=1




gog

D00 x000i0D00000

1130000000

2000 DODODOOAODOODO0OO 20000 A000D0DO00O0ODODOO

2A = A,

O0O000D0AAOmMIO0000O n,na, 00000000 DOODOOO
oooaGco

G = U+PV-TS
= H-TS
= Np [hA —T(CpalogT —Rlog pA+a;)]+
Na, [hA2 —T(Cpa,logT — Rlog pa, + ai\z)]
= Napa + Naua,

000 pan,0 AD A, 0000000000

000000000000 000 @o0oD)Dooooooon A0 é
mol OOOO00OO0O0AODOOCO2mol000000D0OO00O00OO0

goooOooo(@ooOo)oooooT,PO0O0000ODOOOOOODOOOO
oo GUUOUOOODOODODbObOObOsbODOOGOOO oGH

oG dnA oG dn/_\2
o0& +

ony d(f 0nA2 dé:

(—2pa + pn,)06 =0

oG =

2

goboboboboooonod
_2/JA+/*[A2:O
goon

gooooooooon

—2[ha = T(CpalogT — Rlog pa + @,)] +ha, — T(Cpa,l0gT — Rlog pa, + &,,) =0

HA HA,

Doooooooooooog



goo

oq P _ T {[ha, = T(Cpa, 109 T + &, )| — 2|ha = T(Cpalog T + &) |}
. RT

00000 KT =62200000
pAz
Pk
PA

00000KOOOODODOOOO0O0OO00O000%0000000000000
gogobooggbboboooon

000 r+s00 (Ay...,ArBy,....B)000000000000000
alAl + .. .a/rAr \_—\ﬁlBl + .. -ﬁsBs

gogdobbgboboouoooooood
S
r
[ [vd
j=1

= K(T),

goo

K(T)= exp [—% {leﬁi |he, - T(Ces, log T + )]
©)

r
_ Z @] [hAJ. — T(Cpa, log T + a;j)]}

=1

gboobbboogobboogo

goo -1/RT{---}0 j00oboooobobooboooobooboooboon
goooooooo(@oooobooopboobooboobobboOo)boboo
gbooooboobobobbobobbobobobuooooboooooooo

0 (300000000

2000000000000000000000000000000000000000000
goooo



